RBSE BppRD

—_—

SHARNA TUTION C(aSSES

; &) Let’s Rule
COPRDINETE b0 mETRY
CLASS-X T e

[ PrREVIOUS YEAR 2015-12 )
® white te disiane O He point (S )
30| - 0;1‘%(),

fumw x—ax?s . [ FBSE-?_OIS]
S5

+5

poirt s (- s, “) e

“ral‘l o . ) =5 g
')L'QXIS (s L'

® If k(S)"l) Ts +he m?d—po?n—l— He (The Segment P8 ool Coo\‘dfnai% g & as (2,3)
‘Hren ‘61»«3( the coordl postes co,% f;oo,n_f_ P . [(RBSE ZO{SJ
22l Gfuen east, 8= (2,3)

o pd pAint k=(5,4)

BEg, S W} bl Foo'ﬂ’f'% cooroliuade = (l"rxl) (Hr“" 9L>

Hens X__,c‘jjz a=aj_az s 2.
S BN b S E H:slm gy = S
Hence | P = 178—)5‘) =
@ Find the uuvlw&ceﬁ k ?6 Hie roe’lrﬂ’3 A(2,3) ,5(”,k)0 ol C (6)_?(3’5 szjnem_
8o| . Giwen A (2,5) B(49,K) ad C(é}—S) e collineoy
| T"‘”‘) Avea % Mw«ﬁle = 0 B (4)f) E '61'3\

Scanned by CamScanner



L A= L [";{b’z”&s)Jf 6‘:./53'3') -+ %5(3'_52)}

0 =g;[-2(k+3)-+ 4(-3-3) + 6 (s-k)]
0= >k - _

'Z[ +6-oy+18-6k)
2K+Q'—{-QL1_6k

~qk=0 <y F=0]

[ ]
O T§ the miudle point of tuio pimis P(-2,5) Od 8(-5) 15 (-2 2 Fhen fud
o dus4+ance bequucen qaoem-l»s A aud 8 . {:FBSE LOIQB
o . Griwen that, A (-2,5) and B (—S)g)

Mid. point 75' ( —1,3)
v 2.

¢d=dit¥, =~ 3=

2.

H+5
2
6-5 =

d = 2

DJO"‘-O o o /
) dustance will be :J('Ii '&432'+{81'5|)L

= 3 +|6
=~ a5 = 5

Scanned by CamScanner



@Fohdm CUUL&CD%{_} uslose wﬁwma}%(sﬂ qg)m q-5‘) (rese 2016

3o - -OI\SICQQ)\) A 5,%)

8 ¢ (-4-5
xH,S) ( ’ )

AYea -
- A = E’ [%, (Yo-43) + *X2(Y,-4,) + 13(3’—31)]

Hewe, 1=S,7)  (4.5)  (-4-5)

ke 3, A %Q— 13 59
So '
A - ?'L [ 5-(-S) + 4 [-5-7) + (4) (%-5) )
= [ 5X10 + H4X%X~12 ~+ (—H)(ZW]
o
= - 50— _8
L [-50-y4z-38)
= [‘ ]Ogl - - 523

80/ Peeu Q_& AN =~ +53 w’\alfz

0
O Flnd 'H/Le Cueg oy &% He A whose werHed e (ns -2 (5=
™ Ts rt?H— oMg(e A, A - 31)
ol -
—- Copsiam

B (s,- HERD

~2) ewd (S,H), Also preue
RBSE zo:#]

Scanned by CamScanner



Avea ey & - L ’ (o 1y,- ¢3) T (G-t *a (YY)
e (-3,-2) (5 -2) (34)
l [3(-2-4)4 5(u-(-2)+ 5(-2- 2)]1

| [-3x-¢+ Sx¢+ Sxo]

i

o Avea =
2

= |
3
=] —12430| = 6 unit?
>

2
A (-3,-2) B(S,-2), ([ S,4)

1) o o
MNOwW, 1D pyour P+ Us an right ang e Friaug le

AB = \5—(_3)L+(-2+72)7- = 3
N R L
CA = [(5+3)% [y42)* = 10
| cAt= PBZ4 BCT
b0 = 64 4+ 36 = (00 = (0O P,

0
%‘Eﬁﬂzous""anm blw points (,2)aud (S,73) % (s S . They \@dmmcyu«
(/‘) ’:lu&\ oo vadio n i o Hae Clwe _ 31-!—3 3 d4u,1&,0,3 Hie  1Tue $f?gbbu2n-}~
Jowuuﬁ Hae, f)on’\ﬂL (1, 3) M (Q_l:;)‘ C@BSE 20 23

Scanned by CamScanner



8ol ) et (e, ) = 19¢,3) (1) et fue fine diwides He poSot i
(e, , 92) = (5,7%) VRO Qfe 10 sechim fumels

So
U= ) (g, ) - (AT AEABY 2ol g
= <+ 2 g+l

(o] 'O ) o IN
So  H Mot Sahr@’fm $un eg

i;

5 = &+ (3-3)%

Squasdiug both sfele 3 (2k+1\+ FEH3 - 9
RS = (5-9()l+¢g K+ K4
R5-16 = (S-x)7 tk+3 + Fe43 = I (k+1)
g: (5-»)% 13k +6 = 9k + 3
(5-n) = =393 yk = 3
k = 3
80) 5. =93 g
el He yado IS 34
S-n =~ -3
x =3
* =2 3

I or am Foun points P(2,-0) 8(3,4) ,R(-2,3) aud S(-32) $ o
flw,m prowe +uat PORS s pot o é?m budt RRombyy [ R @asE 2019)

Scanned by CamScanner



3d PG = @2 (Y4 = JT2rs® = J26 vt
&R = (~2-3)% (3.4 = (3541 - (28 wdy
RS = \ (-3+2)%4 (—z~3)¢ “NiH25 = V26 wid

ST = Jm3-20% 2-30" - Ve uis
Pow '

o |
Diggonal PR = (-2-2)%4+(3+1D" = N6+ 16 = YT

8S = J(-3-3)%% (o> = V36436 = 6VT wit
Heax Sqcles P =QR=RS=SP
But PR 3 §S (dfaﬁm)

Henee, M35 Rhombuw |

Scanned by CamScanner



